‘||||| "“II FA C S

1567 PC GRADE 8.8 ASSORTMENT M6-M24

'a JOXe

Industrial, Fleet & Construction Supplies
IFACS-171
BOCNFH BOCNFH A00CNFH A20CNFH JA4A0CNFH A60CNFH 200CNFH 240CNFH
ME-1 HEX NUT M&-1.25 HEX NUT M10-1.5 HEX NUT M12-1.75 HEX NUT M14-2 HEX NUT M16-2 HEX NUT M20-2.5 HEX NUT M24-3 HEX NUT
50 PCS 50 PCS 25 PCS 25 PCS 15 PCS 15 PCS 10 PCS 10 PCS
BONWF1Z BONWF12Z A00NWF17Z A20NWF12Z JA0NWF1Z A60NWF1Z 200NWF1Z 2A0NWF1Z
ME FLAT WASHER HARD M2 FLAT WASHER HARD M10 FLAT WASHER HARD M12 FLAT WASHER HARD M14 FLAT WASHER HARD M16 FLAT WASHER HARD M20 FLAT WASHER HARD M24 FLAT WASHER HARD
100 PCS 100 PCS 50 PCS 50 PCS 25 PCS 25 PCS 20 PCS. 20 PCS
BONLOCZ BONLOCZ J100MNLOCZ 120NLOCZ 140NLOCZ A60NLOCZ 200NLOCZ 240NLOCZ
ME SPLIT LOCKWASHER ZN | M8 SPLIT LOCKWASHER ZN | M10 SPUT LOCKWASHER ZN | M12 SPLIT LOCKWASHER ZN | M14 SPLIT LOCKWASHER ZN | M16 SPLIT LOCKWASHER ZN | M20 SPLIT LOCKWASHER ZN | M24 SPLIT LOCKWASHER ZN
50 PCS 50 PCS 50 PCS 50 PCS 25 PCS 25 PCS 10 PCS 10 PCS
BOC120HCSZ/BR BOC160HCSZ/BR A00C200HCSZ /88 A120C250HCSZ /88 J140C300HCS? /B8 160C300HCSZ /88 200CADDHCSZ /88 2A40CA00HCSZ /88
MB-1 X 12 CAP SCREW ME-1 X 16 CAP SCREW M10-1.5 20 CAP SCREW M12-1.75 X 25 CAP SCREW M14-2 X 30 CAP SCREW M16-2 X 30 CAP SCREW M20-2.5 X 40 CAP SCREW MZ24-3 X 40 CAP SCREW
25 PC5 25 PCS 25 PCS 15 PC5 10 PC5 10 PC5 5 PCS 3 PCS
BOC160HCSZ/BR BOC200HCSZ/RR A00C250HCSZ /88 120C300HCSZ/88 JA40CADOHCSZ f88 A60CA00HCSZ /88 200C500HCSZ /38 240C500HCSZ /88
ME-1 X 16 CAP SCREW ME-1 X 20 CAP SCREW M10-1.5 25 CAP SCREW M12-1.75 X 30 CAP SCREW M14-2 X 40 CAP SCREW M16-2 X 40 CAP SCREW M20-2.5 X 50 CAP SCREW M.24-3 X 50 CAP SCREW
25 PCS 25 PCS 25 PCS 15 PCS 10 PC5S 10 PCS S PCS 3 PCS
BOC200HCSZ/R8 BOC250HCSZ 88 A00C300HCSZ /88 120C350HCSZ/88 A40C500HCSZ /88 A60CS00HCSZ /88 200CE00HCSZ /88 2A0CB00HCSZ /88
M6E-1 X 20 CAP SCREW MEB-1 X 25 CAP SCREW M10-1.5 30 CAP SCREW M12-1.75 X 35 CAP SCREW M14-2 X 50 CAP SCREW M16-2 X 50 CAP SCREW M20-2.5 X 60 CAP SCREW M24-3 ¥ 60 CAP SCREW
25 PCS 25 PCS 25 PCS 15 PCS 10 PCS 10 PCS 5 PCS 3 PCS
B0OC250HCSZ/R8 AB0C300HCSZ/BR 100C350HCSZ /88 120CA00HCSZ B8 140C600HCSZ /28 A60CE00HCSZ /88 200C700HCSZ/88 240C700HCSZ/88
M6-1 X 25 CAP SCREW ME-1 X 30 CAP SCREW M10-1.5 35 CAP SCREW M12-1.75 X 40 CAP SCREW M14-2 X 60 CAP SCREW M16-2 X 60 CAP SCREW M20-2.5 X 70 CAP SCREW M24-3 X 70 CAP SCREW
25 PCS 25 PCS 25 PCS 15 PCS 10 PCS 10 PCS 5 PCS 3 PCS
60C300HCSZ/ B8 _B0CADOHCSZ/88 .100C4D0HCSZ/B8 120C500HCSZ B8 140C700HCSZ,/B8 J160C700HCSZ /88 200CB00HCSZ/8R 240CR00HCSZ/88
M6-1 X 30 CAP SCREW ME&-1 X 40 CAP SCREW M10-1.5 40 CAP SCREW M12-1.75 X 50 CAP SCREW M14-2 X 70 CAP SCREW M16-2 X 70 CAP SCREW M20-2.5 X 80 CAP SCREW M24-3 X 80 CAP SCREW
25 PCS 25 PCS 25 PCS 15 PCS 10 PCS 10 PCS 5 PCS 3 PCS
BOCISOHCSZ /B8 BOCS00HCSZ /B8 A00CS00HCSZ /88 A20C600HCSZ/88 J140C800HCSZ /88 A60CE00HCSZ /88 200C900HCSZ /88 2A40C900HCSZ/88
M6-1 X 35 CAP SCREW ME-1 X 50 CAP SCREW M10-1.5 50 CAP SCREW M12-1.75 X 60 CAP SCREW M14-2 X 80 CAP SCREW M16-2 X 80 CAP SCREW M20-2.5 X 90 CAP SCREW M24-3 X 90 CAP SCREW
25 PCS 25 PCS 25 PCS 15 PC5 10 PCS 10 PC5 S PCS 2 PCS




